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(873 353 t ] [E3E 109 t ]
BEUL : AWMEBBRIBAS EL 13 % AN B AWEILRIFEEZRE 8 %iE ey
\ B fr: B BAR)
B % =2, ES

AT H FEEM | B | B E % i i H FEEM | B | & E % fH

AR A & [ 200 g 118 86 | ADNA FoRk L 10 ke 3, 240 1, 620

LA = B 250 g © 108 — | 2ohA 5 & 10 ke 4, 104 —

Tk = 200 g 129 86 || B W oA 10 ke 5, 940 =

IEINAED = B 200 g 194 129 | BEF (BARAS) — — — —

FEh&E | = B 8 ke 8, 640 3,024 | JIMREA oAk 7.5 ke 3, 564 1,296

LwAEL E B 150 g 129 86 | El& — — — —

— — - — — | <Y * O 5 ke 6, 480 4, 860

Vil AN, | Ab¥EE 10 ke 2, 160 — | TR Am B I 8 ke 5, 940 —
TP A LA AbEE 10 ke 3, 240 2, 376
<& = % 15 ke 2, 700 1, 404
Fp Y | B 10 ke 2, 592 1,944
L& A x O 10 ke 2, 592 2, 160
XTI B 5 ke 2, 700 —
Aor = B 5 ke 1, 728 864 -
h< I AbvEE 4 ke 3, 564 2,916
Bl =% 150 g 108 75
SR At E 10 ke 1, 728 1, 080
mERE AbHEE 20 ke 2, 592 2, 376
LW ™ 5 100 g 172 151
ESeY bl oS 1 ke| 32,400 10, 800
LU = ¥ 100 g 64 54




BB b ) 3R T 4 R 108 7H @ & Kk E W& @ E KB 46 ¢

M . AWEIZATEBHE 5 %% #4 [BEF . 26 t ] (e 7t ] [#5+F 13 t ]
. B O M BhAL)
fif =l iz} . +
B = FEEM | B | B E % & i E FEEHM | B | & E =%

£F AHE K 1 kg 2, 160 1,620 | Y47 F 1 ke 2, 808 1, 080
mESAHE KM 1 ke 4, 320 — || |HN J T 1 ke 1, 296 540
T £ & 1 kg 1, 080 864 | ¥ T = 2y 7 | 1lke 2, 160 1, 080
P & 1 ke 2,376 216 || A=A TR L 1 kg 1, 404 =
AT [ 1ke 583 280 | FU AL T & 1 ke 4, 860 1,188 |
ANVAA T & E lkg 1, 177 939 | BRTH = It 14 248 | 54
EAN T ™ B 1 ke 1,728 302 -
EXA TR 1 ke 1,728 540
&&= CE 1 ke 2, 700 540
INE = E 1 ke 1, 944 216
Vs, = 1 ke 1,728 540
ks 5 B 1ke 2, 700 1648
Y B O 1 ke 2, 376 432
27 R 5 1k 2,106 |~ - 972




